A . GGET 0y or\i -
2 ' 0oo0gie Fla
Addal247 —

“ PART - |
G(mm'nl Maeninl Rligibilty | AT AT argar
Lo Outofboxe 1,2, 3 and 4 (glven 1. 9w ng wal 1,2, 3r3ﬁi4ﬁ.ﬁ,aﬁr
balow) Choose the boxon that ean be aut w1 Tt &t 8w o) 4 g 1fiz
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2. Which letter will replace the *?" in the

figure given below?

GET IT ON
Google Play

2. ) faw s 30 RO
STl

AU A. U
B. P
: B. P
C. N o
D‘ 0 Cc N
D. O
3. Ina family of six members A, B, C, D, . DTHIEI A, B, C, D, E 3R F H T
EandF, _ qfEmeH, _
A and B are a married couple. A3INRB T feranfRa S &
A is a male member. o
D is the only son of C, who (C) is the A T 6T FEE 8| _
brother of A. D, C %1 T I 2, S (C) A %1 IR Bl
E is the sister of D. E, D it /g7 2
B is the daughter-in-law of F, whose B, FHI=g e, mﬁﬁﬁﬁﬁﬁ A
husband has died E C aﬁ;ﬂ.mm_}? |
How E is related to C? o ‘
A. Sister A, &
B. Daughter B. &t
C. Grandmother CC. T
D. Mother D. #f
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4. Which is the comect figure thatcanbe  © 4. 4 fay 7y fopt i ﬁvm?ﬁlﬁ' EARIL 1

formed by joining the picees given in o oy ol AT ’fﬁfﬂmf'iﬂ %
the figure below? yAl

KR R
A_E A'_
‘g E
C.@ ’
D. E

5. Find the number of triangles in the 5.
given figure. "
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6. For determining Sonia’s present age
from the information given below-

(I) Sonia’s present age is five times
Deepak’s present age.

(II) Five years ago her age was
twenty-five times Deepak’s age at
that time

Which of the following is the correct

option? _

A. (I) alone sufficient while (IT) alone
not sufficient to answer.

B. (II) alone sufficient while (I) alone
not sufficient to answer.

C. Both (I) and (II) are not sufficient
to answer.

D. Both (I) and (IT) are necessary to
answer.

7. In the following number series, all the
numbers except one follow a certain
mathematical formula. Find the

GET IT ON
Google Play |

6. iR A S e o
5 = o i
{n mﬁmﬁmaﬁ*’-,ﬁﬁr‘:ﬂ'
= 7]
(11) 9T 3G e T T oy g
= wg Fa geA e 4
=

A. =0 rEEF g A (DTead ==

S (1) T 70 6

B. & (I T & S = () 3
T al

D. (3 @I SRS
Haw 8l

7. Frefafad g 5991 9, S 2 585
il HEaTd O 1A e 53 = 9o
3t 51 S T I6 e S

E:E]:E:r that is different from the -
2, 5,10, 17, 26, 37, 50, 64 2,5,10,17,26,37. 50,64
A. 50 A. 50
B. 37 B. 37
C. 26 & 26
. 64
P D. 64
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B

9.

Reartange the jumbled letters {0 makc
a meaningful word and select the one
that is different from the other three,

A. BIWNTR
B. LCUOD
C. PIGRSN
D. UMRSME

Identify the figure that contains the
below figure hidden in it.
) @
B‘ @
C. It
7\
D. ‘
| e

GET IT ON
Google Play

a4 £ X * 4
BT ) AR B F AR T
B, i) 5] AT TR T T

9.

A 3 fu=y 7

A. EIWNTE
B. 1L.CUOD
C. PIGRSN
D. UMESME
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10. If the following nine figures are . -
i T 1 ST

grouped into three classes using each

figure onl)lru cén;e, then the correct H@HWG{THT 2, At vt forgey B
option wo e-
Q9D B9YE Q‘
4 5
8 9

A 7,8,9;2,4,3; 1,5,6

A. 7,8,9;2,4,3,1,5,6 & 4%
B. 1,3,2;4,5,7;6,8,9 B. 1,3,2;4,5,7, » &
C. 1,6,83,4,7,2,5,9 _ C. 1,6,8347259
D,li 6, 9, 3" 4, 7;2, 5,8 D. 1,6’9; 3’4, 7’2’5’8 ;
11. If one-third of one-fourth of a number 11. uﬁ%ﬁm%@-ﬁmﬁ"ﬂ wh-forers
is 15, then three-tenth of that number 158, 91 39 G aﬁr#iw-_mﬁw%-
= _ A. 35
A. 35 '
B. 36 | B. 36
C. 54 C. 54
D. 45 ) D. 45 _ |
12. Select the one that is different from 12. mﬁmmwa&aﬁ FFdRafimE |
the other three. , | | ,
-A. peninsula A TR
2. :;land — e
. ba _
y . c. et
D. cape .
D. Jaty

SPACE FOR ROUGH WORK / wmﬁ%:ﬁ-t&m

[ 111111 11T I

Scan-ned with CamScanner

|
i
|
.l



https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

2 : oogie Fia
Addal2417 —
. j
1 The sum o the npes of 5 children born 13, w3 ord & afererer T g5 1 )
Al the il'l'.l‘!t‘\‘:\l:q ui" 3 years each is 50 3“{{ 2T 50 ad bl I{!Tﬁ GA LA T+ Y 3|
yeurs, What is the age of the youngest 7 89
child? i
A % yeary A 44
B, & years B. g
C. 10 yems c. 10ad
D. 2 years D, 2774 _
14 A team of five is to be selected from 14. yisregH (A, B, C, D, HITE) WW
five boys (A, B, C, D and E) and four wrefidt (P, Q, R 3 S) # & af= it 1
%il{is E}‘, Q. R and S). Some criteria for e Aoy =0 < P T )
selection are- e
A and S have to be together. T & fe0 §O &
P cannot be put with R, A 31 S T T g BT 8l 3D
D and Q cannot go together. P& R % |1 Tl 1@ < e 3);
E and E hla:vc l(: hf.?t:ogcthcr. DR Q T Gy T8 5 HH|
cannot be put with 13, R
If R be one of the members, the other C YT E 1 O @ E L
members of the team can be- RHBH HT"-I &} TEn 1 "t 81
A. P,S,A,D 7f R weddi § | U B, @ IW & A
B. Q,S,A,D T I & AR 87
C. Q5,CE A. P,5,A,D
D. A,C,S,E B. Q,5,A,D
C.. QS,CE
D. A,C,S,E

A
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15,

16.

A vessel is filled with liquid, 3 parts of
which arc water and 5 parts syrup,

. How much of the mixture must-be

drawn off and replaced with water so
that the mixture may be half water and

- half syrup?

A, 1/7
B. 1/5
C. 1/4
D. 1/3

Look at this series- '
-664, 332, 340, 170, ------ , 89

. Find the missing number.

=

17.

B. 97
C. 109
D. 178

CLRTBQSMAPDINFIKG
Y X

15.

16.

GET IT ON
, Google Play §

@mmﬁmﬁ,ﬁﬁﬁsmm
v 5 v e 21 O 87 o

s o e, AT SV A0 fory
a7 ' .

A. 117
B. 155,
C. 1/4
D, 13

75 @ #12d-

664, 332, 340, 170, —~, 89
QU T I il

- A 85

17.

B. 97
C. 109
D. 178

CLRTBQSMAPDINFJIKG

| _ : Y X
'-I'h:ee of the following four are alike T = & 3 99 v B e &
Which is the one that doce not belory, | TEMERUGEEARAT
to the group? I T & Sl 6g 4 AT a1 87
(@) LBT () IF @M LBT () UF
(Im PID  (IV) BMS () PID  (IV) BMS
A. (D A O
B. (I) ‘
C. ‘(1) B. (Iy
D. (IV) C. (I
D. (IV)
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18.

19.

Select the three figurcs from the
following fivc alternatives that would

form a complete square, when
rearranged,

239y

1,2,3
1,3,5
1,4,5
2,3,4

o0w»

If “ %’ stands for ‘addition’, =’ stands
for ‘subtraction’, ‘+’ stands for
‘multiplication’, and ‘ —’ stands for -
‘division’, then 20x8+8—-4+2 is-

GET IT ON
Google Play

18. Prerfifiag i freeat # & € srepfot
o =7 A At B 9w

anf aTe)

p QIS0
1 2 3 4 5
A. 1,2,3 |
B. 1,3,5
C. 1,4,5

D. 2,3,4
| 4
Aty < o ST, ¢+ I

oA, '+'aﬂaﬁ';ﬁr'aﬂt‘—‘§raﬂﬂf
T 2, @ 20x8+8—4+2 m:mi%’

A. 80 A.- 80
B. 25 B. 25
C. 24 g
D. 5 BE 5
20. Find the missing number T HE g A
3131:9800030::3 : ——-—-_ 3131 : 9800030 :: 3 1 ~——
A. 6 A 6
B. 66 .
C. 666 "
D. 9 o
D. 9
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21. Look carcfully at the sequence of 21, Wkl 3‘1;"1['“.?" ‘m.:} 1;1* w
- symbols and select the correct pattern s S R TN ".m wm|

that will replace the “?°. —— _
A. | | U -
B. |

B. : -

& |_| - C. I_I
D.JI_ i L D_Jl

22° 'Finé;me missing number in the series, 22. @ EASCACEIN m‘_ |
ELFA, GLHA, ILJA, ----, MLNA " ELFA, GLHA, ILJA, = MLNA
B. KLLA B. KLLA
C. LLMA S EMA
D. KLMA ¢
' D. KLMA
~SPACE FORROUGH WORK / & T % o e -
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23. In a certain code language,

24,

plt na som’ means ‘bnnb me watcer’
‘na jo tod’ means ‘water is life’

‘tub od pit> means ‘give me toy’

‘jo lin kot’ means ‘life and death’

Which of the following represents ‘is’
in that language?

A. jo
B. na
C. tod
D. lin

Eleven students A, B, C, D, E, F, G,
H, 1, Jand X are sitting in the first line
facing the teacher.

D who is just to the left of F, and is to
the right of C at second place.

A is second to the right of E which 1s
at one end.

J is the nearest neighbour of A and B
and is to the left of G at third place.
H is next to D to the left and is at the
third place to the right of I.

Who is sitting in the middle?

A1

B. H
C. G
D. B

GET IT ON
Google Play

;
23. @ﬁﬁnizmmﬁ

‘pit nn som' T 314 ¢ *bring me water”
‘na jo tod’ &I a4 § ‘water is life’

“tub od pit’ =T o § ‘give me toy’

jo lin kot’ =T 379 § 'lifc and death’
fPrerferfaa i & 9 3 T i tis’ A
T 87

A. jo

B. na

C. tod

D. lin

.mmABCDEFGHJJaht

K el s i v anga 3 €,

D S F & Jish arft AR, 3K C & gl
2 TE FIH TR

A, E 39 8 T WH TR A ThH BN
8l

1, A 3B F Fear et 2 G F
i ST e T W R

H,D¥ et § arff oI g i I F e &
A A W R
9 I S AT R

Al
B. H
C. G
D. B
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Al

2 :’:‘;ﬁﬁ;j:l’cf B. malgaaupcr
D. moggagrop C. gropport
D. moggagrop
" SPACE FOR ROUGH -wonk/#m%ﬁf&m
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25,

26.

Find the missing nuimber In the series, -

4, 18,1, 100, 180, 294, 444
A. 48,
B, 50
C. 58
D. 60

Here are some words translated from
an artificial language.

malgauper means peach cobbler
malgaport means peach juice
moggagrop means apple jelly

Which word could mean “apple

-~ juice™?

A. moggaport

GET IT ON
Google Play

25, sjuer i TfH e i Ay

206,

4 14, 7, 100, 180,294,448
A, A8
B, 50
C. 58

D, 60

gt oo savnr 8 AT 7 v o
# o |
malgauper FT a4 ¥ peach cobbler
malgaport %1 @4 ¥ peach juice
moggagrop %1 w4 & apple jelly

fopay w71 A4 “apple juice” BrEFRATYY

A. moggaport
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- 27. Sclect a suitable figure that would 27. 39w ATFH mwaﬁaﬁw f%I@ 49
i replace the question mark (?). 1 wferenfia i
<Ol ?

QL2

31|

D@@@%
D@@@?

SPACE FOR ROUGH WORK / T& %14 % Ry srre

20462-YKIWZ-JRKJ-ENT-E 15 I" "Il"“”““l“"l“ 41 SetA

' A
Scanned with CamScanner


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

28. Find the minimum number of straight 28, 417§ SMHRT TR + NI R0 ¥l
lines required to make the given Yarall B 69t T Rl
figure. ' . -

29.

x—3 1""3 i ; ’
) , thien the value of ) LR xTIR =T

C 2
D. 712
D. 72
30. A dice is numbered from 1 to 6 in 30. THTRT 1Y 6 7% RN FR
different ways, such that 1 is adjacent FHifna e T &, e 1 38,2, 4
to 2, U © U 306 % T 8, A PR A e
following statement is necessarily
true? I F AEEF TR TR
A. 2 is opposite to 6 A. 2, 6% farliaR
B. 1 isadjacentto3 . L 3w

B
C. 3isadjacentto5 C. 3, 5% W=
D. 3 is opposite to 5 D. 3, 5% v
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GET IT ON
Google Play

PART - II

General Knowledge

31. Longest national highway is-
A. Varanasi to Kanyakumari

32.

B.
C.
. D.

Shershah Suri Marg
Silchar to Porbandar
None of these

Choose the correct answer regarding
NIPUN Bharat Programme that is
launched in July 2021-

A,

=

- NIPUN Bharat aims to cover the

learning needs of children in the
age group of 5 to 9 years.

NIPUN stands for National

- Initiative for Proficiency in

Reading with Understanding and
Numeracy. '

It is launched by Home Ministry.

It comes under the aegis of the

centrally sponsored scheme of
Sukarnya Scheme.

mﬁxm'

31. ey w= WL A -
A. aword  FETEET
B. fweme g4 ww
C. fye=n @ I
D. 3T & IS T

32. s, 2021 % wiew ey e fgor v
e % Hed 1§ Hel It 4-
A, Fgor T T e 5 8 9 94 ) A
F el Y HiE@A I oLl &
FET 2 :
B. NIPUN 1 Haad HXHd 3HRTGRA
TS = R
D. I GHAT AT Y g, NI
TS o AT 3 ST 2l

0
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33.

According to NEP 2020, students wiil

be given increased flexibility in course
choices of the subject to study at -

sccondary level. Choose the correct

option among below given choices-

"(I) No hard separation among
‘curricular’, ‘cxtra curricular’ or

‘co-curricular’

(II) No hard separation among ‘arts’,
‘humanities’ and ‘science’.

(IIT) No hard separation between
‘vocational’ and ‘academic’
stream. '

. A. Only (I) is correct statement.

34.

B. -.-'(I) and (II) both are correct
statements.

C. (D), (II) and (I11) are correct

statements.

D. (IT) and (III) are correct

statements.

Arrange the following in the’
descending order of their liquidity-
(@ M, -

(b) M,
() M;
(d) My
A. MI:M3=M2’M4
B. M4, M;3,M;5,M;
C. M15M2:M3sM4
D. M4’M2’M3le

34‘

GET IT ON
Google Play

A. ¥ () TEFH R

B. (1) 3 (In) ZFT Fo T &
C. (1), (D) S (11I) T e &)
D. (IN) 3T (111) @ 2

e ) SR T S
3 crafber - ‘% |
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35.

36.

37.

Ryotwari land settlement was
implemented in the following places
during the British rule-

A. Bihar

B. Mumbai

C. Allahabad

D. In all the above places

Atal Tinkering Labs is an initiative by
which of the following institutions?

'A. NITI Aayog

B. Indian Space Research
Organization (ISRO)

C. Defence Research and
Development Organization

(DRDO) ,
D. Central Board of Secondary
Education (CBSE) '

Which statement is incorrect regarding
western cyclonic disturbance?

A. This is the Westerly flow that
~comes in winter.
B. It is not affected by the Jet stream.
C. Affects the Northern and North-
Western regions of India.

D. Flow coming from the
Mediterranean Sea Region.

35.

36.

37.
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38.

39.

Infant Mortality Rate (IMR) indicate
the number of children that die before
the age of ------ as a proportion of 100
live children born in that particular
year.

One year
Two year
Three year
Four year

cowp

Which of the following is matched in

- the context of the majority of the total

membership of the each houses of

-Parliament and by a majority of not |

less than 2/3 of the members present
and voting?

38,

39,
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.40. The headquarter of ISRO is situated 40, Wﬁg@ﬁqﬁﬂﬁ%—
b 1 A. FTER
A. Bangalore
B. Chennai B. W
C. Shriharikota C. sfefepiar
D. Hyderabad D. TER
SPACE FOR ROUGH WORK / 7% &4 % ford sre
20462-YKIWZ-JRKJ-ENT-E 20 I“"Il"l”""l”l" Ill 41 SetA |
. ﬁ

Scanned with CamScanner


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

GGET IT Ol\i PI

B T oogie Fla
Adda247 - | —
| | _

- 41 Which of ihe following fctort nﬂ:.u' AL i B s e e 40wt

; human healthy: _ i )
; (1) Infectiong . b
i (y  thEmm
o (D). - Slent Mutationn | o
L (I Life Style (ny vty
(V) Gancuc Disorderi (1) g et
A1), (1) & (1V) - (1yy  avplfors e
; B. (D&("J | A, (1), (1) A (V)
S (:-)'_(:11]'_).'.2“("”’} ¢, 1y, sheav)
|
i D, (1), mndrr(m
1 42. ‘Which of ;ﬁc following is announced 42, fasfaftmada Frq:ﬁmmvrrm"ﬂ.
| by the government in support of ot o & au g o £y aAnh 32 2!
: CI‘OD?_ | . : ' ' - R
A, Maximumi Support Pricc A, fertam w4 Wi, I
B. Minimum Support Price’ B. =0 Fa .'
f C. Moderate Support Price C. o gad Fimd :
D. Influcntial Support Price D. YTl aade Fmha .
" SPACE FOR ROUGH woﬂx:mmiﬁﬁi‘rm
© 20462-YKIWZ-JRKI-ENT-E. -~ © 21 I”"ll“""l"l“""“ 41 SetA
SR o ~

Scanned wrch CamScanner


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

‘Addal2417)

43. Which of the following arc main

44.

objectives of RMSA (Rashtriya

Madhyamik Shiksha Abhiyan)?

(I)  To ensure that all secondary

schools have physical facilitics,

staffs and supplies at least
according to the préscribed
standards.

To improve access to secondary

schooling to all young persons

according to norms.

(IIT) To ensure that no child is
deprived of secondary education
of satisfactory quality duc to
gender, socio-economic,
disability and other barriers.

an

(IV) To bring positive qualitative

* change in life of secondary
school students.

A. (D), (I) and (III)

B. (I), (II), (IIT) and (IV)
C. "(II), (IIT) and (IV)

D. (I) and (IV)

Modermn Periodic Table was given by-
A. Dobereiner -
Newland

Mendeleev

Seaborg

Oouw

43,

44.
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45.

46.

What is correct?

(I) Speaker of Lok Sabha can be
‘Teémoved by No-confidence

. motion,

(II) Speaker of Lok Sabha can be
. Temoved by a resolution.

(L) SPEEker can be removed by clear
Y maj jority.

(IV) Speaker can be removed by a

‘majority of all the then members
- of the house.

A.- (D), (1L
B. (D, av)
C. (ID), (1)

D. (), av)

The meénmg of the word ‘Udrang’
found in the mscnptlons of the Gupta
dynasty-

A. Ministerial Post
B. Tax

C. Coin

D. Revolt
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 46.
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D. (i), (IV)

o5 SRR i o e

A, g -

B. &
C. fawm
b, e

SPACE FOR ROUGH WORK / % & % Ry g

20462-YKIWZ-JRKJ-ENT-E*

L

s [HIRITIROINID o secs

Scanned with CamScanner


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A

" Adda247

47. Match the following Tirthankars with

oow>.

their order according:to the belief of
Jainism.

- Column-1 Column — 1
(a) Aadinath o 23
(b) Mahavir (). 24
- (c)- Parshvnath (1) 02
(@) d4jitnath (Iv) ol

. a-IV, b-II, c-I d-11
a-1, b-1I, c-]]I d—IV
a-III, b~II c-IY, d-I
. a-Iv, b-II_I, c-II, d-I

- & -
s LT g
-

48.5Which of the following is matched in

_ the:context of IIT schedule of the -
~ Constitution? _
(I) Form of Oath for Prime Minister.

(I) Form of Oath for Umon
v Minister.
(III) Form of Oath for a Minister of
State ‘
(IV) 'Form of Oath for a Member of
Parliament. :
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50.

49.

Ram Prgsad Bismil was given death
penalty in a Conspiracy Case-

- A. Kakori
B Meerut

C\. Laho;*e '
Di‘%‘ Chatgaon

'Il.l .

! =

Whl;ch commission stated that “We
ha\{e\ therefore come to the conclusion
Wh!d_x also tallies with the view of the
Ur_uversity Education Commission in
this connection that it is desirable to

abolish the present intermediate stage

to increase the period of secondary

education by one year and to plan a

three year degree course in University

stage”? _ |

A. Kothari Commission (Education

Commission) (1964-66)

B. Mudaliar Commission (Secondary

. Education Commission) (1952-53)

C. Radhakrishnan Commission

49,

50.
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PART - III -~

" Educational Interest

S1. Which of the following is a formative 51, it & I A AR mfp?

assessment? ) mqa&nﬁq‘.ﬁawnfamf'ﬁ

5 (I) Explain the new tcrms given in : el ; /

'- "~ thelesson. -

. sreﬁm’ra?ﬁﬁm

! (II) Asking children to solve the . _(_”) re # fau T f
Y questions given in the lesson, ' Gacigll
: * (III) Asking children to draw the (- aﬁaﬁmnﬁvwﬁzmm :
: ' picture given in the lesson, g

) iy adresord e v ﬁﬁww

"i g ,:?:;’;’,E-‘,‘:"‘? v Obsewatlon . ‘ W ‘

GJA (@) and (IT) only ; A, ¥ (1) SR (D

B. (W)only . B. ¥ (IV)

g ' (ED a"’: (i;f ) °*‘]‘13'f' _ C. Faa () A AV)

) & ) i (I ), o y - : ' D. e (1) S ()

: 52. Which statement is not correct 52 aRYEREHF VA FHU AP AMFA
g regarding closed type questions? - mﬁqﬁg? .
1 'Ail Suitable for uncovering insight. A m@fﬁﬁmmﬁ%ﬁqaﬂ?ﬁﬁ?
:5..%: B." Suitable for measuring attitudes _ B, B e Y
4 C. Suttable for conductmg : , . 3
s - 'quant:tatwe analysis. - C. qTATea frear a;{%a;ﬁfng-gfga_;;
1 D. Smtablc for collecting specific D. ﬁﬁmmmm%mm

R -
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S5. Arrange the steps of educational - 55. e 3T 36 =TT <6 Foiliie R T
research in sequence- - Hifr- |
(a) Selection of research problem. aue I o/
(b) Selection of research method. () T el e f{
(c) Formulation of rescarch question, . (b) T - SR !'f

- (d) Data collection and analysis. (c) vy SR T [, s :
(e) Reporting Result. ' C(d) aq-faﬁ',’fiﬁ'rm@ %’Wl .'
Select the correct answer from the () ftorg gfera F -
options given below- . dfum %m i & o 3 ﬁ»’T Tﬁa
A‘ '(C), (a)! (b)s (3), (d) *‘!ﬁn}_
B. (©),(a),(d), (b), (e) , | ), (@)
C @ ®,@, 6 A 00,0519
' D..(),©),®), @, B ©@.@.0,)
. o C. (2), (b), (d), (c), (e) '
g B - D. (3,©, (1), @), ()
56. Mistakes made by students in class- 56. Wﬁﬁ'ﬂﬁ*ﬁmﬁ "?’mﬁm
A. Creates obstacles to learning. A. zﬂ@%ﬁmm&"{iﬁ%]
~ B. Helps students to solve problem. B. ﬁmﬁ&ﬁaﬁnﬂwmm?ﬂﬁﬂ :
C. This indicates student’s weakness ' - gERAT R R
in learning. . .
D. Slows down the pace of learning. C. ¥ie & farefiedt <t it 1 -
| RICIEC R

'D. @iEiFHrafasr Eﬂ'qﬁﬂéﬁ%l
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:_. 57.

38.

Two statement
Assertion (A

the correct g
these-

Assertion (A): Learning is a life long
process,

B'?:aSOII (R) : For learning to be uscful
it n}ust be Connected to life.

A..Both Assertion (A) and Reason are
(R) correct and Reason (R) is the
Correct explanation of Assertion
(A). :

- Both Assertion (A) and Reason are
(R) correct but Reason (R) is not
the correct explanation of
Assertion (A).

C. Both Assertion (A) and Reason

(R) are not correct.

D. Assertion (A) is incorrect and
Reason (R) is correct,

S arc given below,
) and Reason (R) choose
NSwer in the context of

Which of the following set of

57.

58.
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elect the correct answer from the s
following options- ;n;ﬁqmaﬂﬁﬁﬁﬂﬁﬁmmgqﬁ
A. (I) and (II) only "%, e e
B. (1) and (IID) only A, T (D) (1D
C. (1), (IT) and (III) only B. Faw (I) 3k Q)
D. (IIT) and (IV) only C. Faa (1), (1) 3i (1)
: D. ¥ (111 ik (1v)
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59.

Two statements are given below,
Assertion (A) and Reason (R). Choose
the correct answer in the context of
these-

Assertion (A) : Teachers should use
formative assessment in the classroom
so that they can continuously assess
the progress of students,

Reason (R) : Formative assessment
alone cannot gather information about
the progress.

A. Both Assertion (A) and Reason
(R) correct and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) correct but Reason (R) is not

"3 the correct explanation of

60.

Assertion (A).

C. Both Assertion (A) and Reason
(R) not correct.

D. Assertion (A) is incorrect and
Reason (R) is correct.

Which one of the following statement

is true about the development of a

child?

A. Development is a short term
process.

B. Development refers to changes in
quantitative aspect only.

C. Development refers to changes in
qualitative aspect only.

D. Itis a continuous process.

59.
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62.

Which of the foflowing statements

regarding the activity conducted in the
classroom ig incorrect?

) Learning by rote .
{EI) IThere must be an clement of
\_-Challenge in the activity. -

(II) The activity is donc in a group
, and not alone, ‘

Iv) Any sport can be also an activity.

Select the correct answer from the
following option.

A. () and (11)
B. (1) and (11)
C. (D and (V)
D. (IOI) and (IV)

Which of the following would you
give the greatest importance in - -
curriculum development? %

A. The process of teaching.
B. Social participation

C. Abilities and needs of the students.

D. Learning activities
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FL.
A. (13 m
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C. p3mav)
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A. dEm i
B. FE1Re geviiar
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AT FHATA] H| -
D. da it
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63. e Rva SR H-

63. In the constructivist teaching process-

(I) ' Active participation of student. () faﬂﬁﬁaﬁm wreftardl
(IT) Teacher in the role of imparter of ary  forees T A i T
ey uny @@ H 7= okt T T T T
(III) There is no place for interaction i
in learning. (Iv) Wmﬁgﬁm%] '
(TV) Leamning takes place in sociality. adt forhedt &1 719 R
iho?;e aLh; (ri‘l(;rrect options. A, (1) 3T
' : I
B. (III) and (IV) B. (nn.sﬂt( V)
C. (I)and (IV) C. (n3IaAV)
D. (II) and (IIT) D. (1))

64. Arrange the different stages of Jean - ﬁ#ﬁﬂﬁ%mmﬁmﬁ
Piaget’s cognitive development theory Ry sTaeaTeTl 1 FHTTER Haftad
in sequence- ; i
(a) Pre-operational stage ‘:E,r o ST
(b) Concrete operational stage (2) E-iii“ IicH
(c) Sensory motor stage (b) T dishaTcHe AET _

(d) Formal operational stage (c) ot Ui IraE

Choose the correct answer from the @ aiqaTie giraTeTs sraer
options given below- 3 fore e Rt ¥ 3T saCEH

A. (@), (), (d), () _ _

B. (c), (d), (a), (b)
C. (c). (a), (b), (d)
D. (b), (c), (d), (a)

A. (a), (1), (d), (0)
B. (c), (d), (a), (b)
C. (0, @), (), (d
D. (b), (c), (d), (a)
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66.

ng-

Philosopher
(I)  John Dewey
(I) Rousseau
(1) John Locke

Phllosoghx
(@) Idealism
(b) Pfﬁgl'DatiSm
(c) Naturalism
(d) Realism

(IV) Plato
A. a-], b-Iv, c-IL, d-II
B. a-II, b-1, c-1v, d-1
C. a-II, b1V, ¢, d-I1
D. a-IV, b-1, c-I1, d-ITI
Match the following-
Column-[
'(Psychologist)
(@) E.L.Thorndike
(b) Ivan Paviov
(c) B.F. Skinner
(d) Wolfgang Kohler
Column -1I -
(Theory)
(I) Insight Theory

(II) Trial and Error
(IIf) Classical Conditioning
(IV) Operant Conditioning

Select the correct answer from the

options below-

A. a-1I, b-1II, c-1V, d-1
B. a-II, b-11, c-IV, d-I
C. a-I, b-II, c-II, d-IV.
D. a-III, b-IV, c-1, d-IT

66.
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6. Frefafas gafem A

g it
(@) EgEE () S

(b) FESER (1) &
(c) FFfE (1) =&
(d) TUEE (V) wR

A. a-, b-IV, c-I1, d-TII
B. a-I, b-III, c-IV, d-I
C. a-Il, b-IV, c-1, d-II
D. a-IV, b-l, c-II, d-III

i I ,-;;' ER |

A Rt EE 1

(GRIEEURED)]
3. Ue. ITHeT®
ECERIERICH
ot T, =
IR TR
R - 11
(=)

O TgH R
I sEmaTR
(ID) SITefi Sgerwue

(a)

(c)
(d

- (V) TR e

A= few e et o & wé s
A. a-II, b-1I1, c-IV, d-1
B. a-II, b-II, ¢-1V, d-I
C. a1, b-III, c-1II, d-IV
D. a-IIl, b-1V, ¢-1, d-1I
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67. Which of the following is the most -

68.

appropriate factor to increase correct
behaviour in students?

A. Reward

B. Punishiment

C. Usc simple language
D. Praisc

Arrange the various steps of action
rescarch in sequence-

(a) Make Hypothesis

(b) Decfining the problem

(c) Obtaining evidences

(d) Testing hypotheses

(e) Generalization

Select the correct answer from the
options given below-

A. (b), (a), (d), (c), (e)
B. (b), (d), (a), (c), (e)
C. (a), (b), (c), (d), (e)
D. (b), (a), (c), (d), (e)
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68.

A, JEFT

B. @8
C. graﬂm?ﬁ"m“ .

D. sl . '
mwwm%ﬁﬁﬂ
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(a) FreRcaHT ST

(b) T 1 AR F

(c) E@IWHA

(d) TfemeaHTai i TliEoT FHET

(e) AT
qﬁ%ﬁqﬁ@ﬁﬂﬂﬂ'ﬂiﬁmﬂﬁ?ﬁ
A. (), (@), (d), (), (&)

B. (b), (d), (), (@) (e) .

C. (@) (), (), (), ()

D. (b), (@), (c), (d),(e) -
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70.

f an individual?
M De"ebpment is a short term
process. '

(D) Itis influenced onl
of an individual,

() Itisa continuous process.

vy Dev.elopment is only based on
* €nvironmental factors.

A. (I) and (III) only

B. (1) and (Iv) only

C. Monly

D. (D, (), () and (V)

y by heredity

Match the following-
Column ]
(a) NCF 2005
(b) NCF-FS 2022 -
(c) NEP 2020
(d) NEP 1984
Column - 11
(I) Operation Black Board
(IT) Multilingualism |
(IlT) Leaming without burden
(IV) Panchkoshi Vikas
Select correct answer from the options
given below-

‘A, a-IL b-IV, ¢-I, d-III

B. a-IIl, b-1V, c-II, d-I
C. a-IV, b-lll, c-II, d-I
D. a-I, b-III, c-I, d-IV

69,

70.
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A. & (1) A (1)

B. = (1) (V)

C. ¥ (III)

D. (1), (), (1) 3R (1V)

fr=fafes gafaa Hiftwe-
L
(a) NCF 2005
(b) NCF-FS 2022
(c) NEP 2020
(d) NEP 1984

il id | G
() STNEA =H e
(n)  sgvifar
() v form s 6

- @V) Yt e

ﬁ%ﬁqmﬁ%ﬁﬁﬂaﬁ?mmm
Fl-

A. a-l, b1V, c-I, d-11I
B. a-III, b-IV, c-1I, d-I
C. a-IV, b-1I1, ¢-II, d-I
D. a-II, b-III, ¢-1, d-1V
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SO AY g v ftn
71. Organise the method of writing o 7h mgﬁ]qm@m’l?ﬁﬂuﬂfﬂ &

lesson plan- -
(a) Prior knowledge (1) ,Ej Wi
| (b) Learning objective (b) st W Seq
(c) Recapitulation ) i
; (d) Presentation of the subject matier ORUCH N—
: (c) Homework (d) forru A%l EARLHI
Sclect the correct option from the (©) qgﬂmﬁ
1 options given below- 13 fag ferreat it 1w formea 71

A. (ﬂ), (b)s (d): (c)l (c) Wﬁl
B. (a), (b), (c), (c), (d) A. (), (b), (d), (©), (©)
C- (b); (“)# (d)& (c)t (G) . . (d}
D. (), ), (), (d), (©) B. @), 0,6 ©)

C. (b), (@), (d), (), (¢)

D. (@), (b), (@), (d), (©)

72. Two Statements are given below- 72. <A 2 e Ry o - _
Statement — I : Education is a social o — | : ey v iR strarmad 2 :
ngfssiW-t f Without el e — 11 : Fre 26 Forr o oft o
so?:izrt;eé]an:mt'amalin g&bﬁli?ﬂé? : feercen afte Fe=cT ST 6T 62 ekt
continuity. . I FUAT o6 g o Tl I =TI
Choose the correct answer in the $ifom

context of the above Statements.

' A. Statements I and II both are A, F ST 3 3

incorrect. B. ®u9 13 1131 G B
B. Statements I and II both are C. Fu7 198 2 AR g 11 e &)
correct.

C. Statement I is correct but D. T 1 TeTd & Wf Fu 11 6t )

Statement 11 is incorrect.

D. Statement I is incorrect but
Statement II is correct.
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ol ing i$ a process of recall.
B. Punishment is crucial for

consn-u‘:tﬁlglhldwlcdge.

Leaming occurs through stimulus
and responses.

D. Social interac

C.

tion is important in

Addal247 |

L ::?ﬁ;’:ﬁe following statements 73, e e A F ST
: I0g is Correct froma * Igam |el 87

| comstructivist approgche e y <1 i 21

' A. Leam - A, HETm AR TE

. B, I Pmfor ¥ frg won weag o

C. e i she swfiren 3 B
2l
D, e & gt s weE ¢

learning,
M. Arrange the following in 74, Freferftaa 1 e % AR AT
f(.‘-h)mll:it)lugical order- Fifer-
a). Mudaliar Commission TR FHiT
| (b) Dr. Radhakrishnan Commission @ T -
% (¢) Ramamurti Review Committee (b) =TT
| (d) Kothari Commission (c) T wfta wfAfd
(€) Prof. Yashpal Committee (d) FreFHE | s
g le(lt'et"’hmiﬂg Without B“gieﬂ)th . () . wmre wfufy (R e i )
€lect the correct answer’ i
options given below- crom e i fawme It & el A T
A ©), @), @), @), () -
B. (a), (d), (b), (c), (e) A. (b), (a), (@), (c), (®
- G @), 1), (), (e), (@) B. (a),(d), ®), ©), (&)
D (©,@)0,0),®) C. (@), [®), (©), (¢), (@)
| D. (9@, @) @0 ..
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75.

76.

Arrange the step of project method in
a sequence- '

(a) Planning of the project

(b) Choosing and purposing the
project

(c) Evaluation of the project

(d) Executing the project

(e) Reporting the project

Select the correct answer from the

options below-

A. (@), (), (@), (©), ©)
B. (o), (©), (d), (@), (b)
C. (@), ®), @), (©). (&)
D. (), (a), (@), (c), (e)

Which one of the most important .
element in teaching?

A. Content Knowledge

B. Relationship between student and
teacher :

C. Classroom management

- D. Teaching method used

77.

Enlightened Indian Perspectives
‘Panchkosha Vikas’ (five fold

development) is related to which of
the following? -

A. National Curriculum Frameworks

2005 (NCF 2005) .

B. National Curriculum Framework -
" - 2000 (NCF 2000)

.C. National Education Policy — 1984

D. National Curriculum Framework
Foundational Stage - 2022

75.

76.

T1.

GET IT ON
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(c) WWW
(d) afEsET I AT

(¢) ARG 1 AferEd

F2 foa o ferehedt | Hel ST H A
fiftm-

A. (a),(b), (@), (¢), (©)

B.. (e), (c), (d), (a), (b)

C: (a), (b), (d), (), (e)

D. (), @), (@), ©), @

Rreqor 7 G TEEYU] A B AT €7
A. fwa=sryA

B. R ik faemeff & sfte qwara
C. el Jolrvd

D. Sk fareror feferai

¥ fored Heiftra 22 '
A. TSf aigaat it FutET - 2005

B. TSha rgaemt &t wae@r - 2000
C. T R +Aify - 1984
- D. T Tigaat i FeEn SRy

RS - 2022
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C. Relating
daily life,

Organise a group activity.

Which classes are included in the

mldt__:lle stage as per NEP - 2020 new
curricular structure?

A. Class6-9

B. Class6-8§ .
C. Class9-12
D. Class 11 -12

Which of the following does not
indicate the effectiveness of teaching?

A. Encourage students to question.

B. Maintaining constant discipline in
the class,

C. Priority given to student’s
experience.

D. Student being active in the class.

78

9.

80

GET IT ON
Google Play
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B. 68
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B. T P Sire s wem

C. femfi % s = s 3w
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General Hindi A felt |
81. ‘aﬁq’mqﬂhﬁqﬂ’f%. 84. (a)_ﬁ{fﬂﬂﬂﬁ]ﬁﬁ‘ﬁ .
A. geETE aresi iy e i R e o - et
e o =R |
i (b)-ﬁma:ﬁﬂmﬁéﬁmﬁaﬂm .
C. THh Tirg o7 8l
D A. (a) TR (b) WE
B. (a) el (b) T
C. (a) T (b) AT W
D. (a) T (b) G T
82. SeaToor v & et g et 85. i i o B
e ¥ s o o e R A @
: 39 FEd 8- Y B, g%
i A. I B. i c. g
!?. C. @t D. fafy D, T
1 83. frerifia wadt = 3fira o & @S- 86. Rrdt frelt § T A A,
(a) ¥t ST 3 R T 97 -
" (b) =2 (@) fei :
(c) 98 (b) 3w
(d) T (c) Ffetm
A. @), (©), ®), (@ @ F
'B. (d), (), (c), (b) A (2T (b)

C. (c), (b),(d), (a)
D. (d), (a), (®), (©)
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C. (b), ()T (d)
D. (a), (b), (c) W (d)
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91. Thcy --———-- win the game, but I doubt
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PART -V

General English

(Choose the correct modal)
A. might

B.
C.
D.

Choose the correct one word substitute

for-

may
can
will

A person who knows everything.

A.

"~ B.

93.

94.

C.
D.

reticent
omnipotent
omniscient
philanthropist

Choose the correct spelling:
A dish made from eggs, fried with
butter or oil in a frying pan.

A.
B.
C.
D.

omlet
omelet
Amlet
Omelette

“The horse who let me win the racing
contest is a master athletic.’

Choose the correct Subordinate
Clause-

A.

Caow

The Horse

who let me win the racing contest
is a master athletic

The horse who let me win

AT AT

Read the following passage and_
answer the question from question no. ..

95 to 100.

Rod always used to laugh at the ldea
of flying saucers. “If there are pecrple i
in outer,” he used to say, “they won° t
want to come here, will they?” But
that was before Rod had a very
strange experience. One summer :
evening, just as he was getting ready
to go to bed, Rod heard low humrmng
noise outside, like thousands of bees. :
He looked out of his bedroom
window. In the field at the end of the
garden he saw a number of bright -
objects coming down. As they landed,
their lights went out and the field :
became dark. Rod decided to take a -
closer look from the wall at the end uf
his garden. From there he could see :
the mysterious objects quite clearly.”
There were twelve of them in all and ’
they were long and thin, like .
enommous cigars. In the centre of the ¢
machines he could just make out a
group of figures, all wearing space -
suits. They appeared to be having a
meeting. As he stood there, Rod felt -
sure that these men were from outer -
space. Their machines were the :
famous flying saucers. Rod also fe]t
sure that they came from a quiet,
peaceful planet, quite unlike the world '

‘he lived in. And he wanted to join
them! :
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A

B

A

95.

96.

Addal247)

At that :
move b::imtem the figures began to
They - went G}vafds their machines,
humming Eois::nilde and the low
one the mach; ©gan again. One by

nes it up. Then the first

>econd one followed it, and
Ell.]]:;l ﬁe 1tt.uri:i. od felt tcrribly’sad.
achines were leaving without

.y :
E{;}’ E’e Jumped over the Jow wall.

AL he shouteq, “Take me with
youl Pleasel” By as he rushed
forward, a waye of hot air pushed him
back and he fel] to the ground. When
he opened s eyes, the field was
empty. _Did he really see flying saucers
Or Was 1t all a dream? Rod js not sure.
Buf. these days, when anyone mentions
flying Saucers, Rod keeps quiet. And

he feels very sad, remembering the

happy peaceful planet he wanted to go
to.

Rod jumped over the wall because he
wanted to- |

A. examine the machines

B. go away with the machines

C. meet the people in space suits -
D. smoke cigar with them

Rod went to the end of tl*;e garden
because he saw-

A. some strange objects
B. some bees

C. some people

D. some cigars

97.

: 98.

99.

What was Rod’s very strange

expericnce?

A. Rod is not sure whether the flying
saucers were real or dream.

B. Rod saw a number of bright
objects.

C. Rod saw enormous cigar like
figures.

D. Rod saw the machines spinning
like wheel.

The correct secquence of the sentences

are- N

(I) He wanted to leave with ‘the
machines. £

(II) A wave of hot air pushed him
back.

(IIT) He wanted to see the machines
more clearly.

(IV) The machines were leaving
without him.

(V) He heard a low humming noise.
A. (IV), (ID), (), (0), (V)

B. (D, O), (V), (ID), AV)

C. (W), (D), (O, @V), () .

D. (D, (@), (V), @V), () .~

The figures in the space suits were-
A. walking around

B. smoking cigar

C. standing together and talking
D. humming songs
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100. Match the following i in Column Ito
Column II.

(@)

®)

(c)
@

@
(1)

Column - 1

Why did Rod look out of his
bed-room window? :
Why Rod decided to take a
closer look?
Why Rod wanted to join them?
Why Rod feels very sad?

'Column - 11
He wanted to go to the happy .
peaceful planet.
They had come from a quiet and
peaceful planet,

(IIT) He heard the humming noise.
(IV) When the bright objects !anded

vowy»

the field became dark.
a-lI, b-II, c-III, d-TIV .
a-I11, b-IV, c-1I, d-I
a-IV, b-III, c-II, d-1

. a-II0, b-II, c-IV, d-T
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1. This question bockiet contams 100 questions each question carries
01 mark. All questions are compulsory. . -
. 2. Indicate your answers on the OMR’ Answeér-Sheet provided.
3. No negative marking will be done. ;
4. Usc of any type of calculator or log table and mobile phone is
prohlbitcd
5. ‘While using OMR Answer-Sheet care should be taken so that the
" Answer-Sheet does not get torn or sputled due to. folds or wrinkles.
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Details of Parts/Subjects : > :
.| 'Part | Particular . . ' No. OfQu_suons Marks
| 1 | General Mental Eligibility 30 - 30
R Il General Knowledge . 1 - 20. 1 20
iy ’ Im Educational Interest ' 30 30
: v General Hindi . , 10 10
V- .| General English .~ . " . -.--10 . 10
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